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class Solution {
public:
bool isValid(string s) {
/] FTRRBERM— N FRAESEHFRIMREY
unordered_map<char, int> hashtable{
{C, 1y, {'{", 2}, {0, 3}, {', -1}, {'}', -2},
{'1', -3},
J75
!l BX—"%
stack<char> char_zhan;
/] FREBENKE
int N = s.length();
for (int i = 0; i < N; i+) {
int temp = hashtable[s[i]];
if (temp > 0) {
!l EESA%
char_zhan.push(s[i]);
} else {
// BIESH, MERERIT
if (char_zhan.empty()) {
return false; // %A=, XRLELENLES
}
/] IRBUEIITER
char top_char = char_zhan.top();
int m = hashtable[top_charl];
/] FIrHtesEt
if (temp + m = 0) {
/] Htk
char_zhan.pop();
} else {
return false; // AILEZ, iR[E] false

}

/] FIFERARST, =B

return char_zhan.empty(); // WERt%=iIRE true; FRR[E]
false



